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< 580,853
Al 3,795,477
ANEEHELSS (MY - SAINY/MHRE - DTG} 2,506,584 3,039,776 A 533,192
= 216,995
Al 2,289,589
HdEANFSHIMA 200,550 1,293,880 A 1,093,330
< 11,000
Al 189,550
SEANZEZMNE 90,000 31,600 58,400
201 et 20,000 21,600 21,600
01 At 22l 2,000 0 2,000
OSEANE AIEZE B0 GE ZEE
2,000,000& = 14l 2,000
02 =224l 18,000 21,600 A 3,600
OZEAE &2 18,000
—A%A 300,000& = 12& 3,600
—JI=2S 600,000& = 123 7,200
— HIJHE JHEH DI 300,000& = 12& 3,600
— B80S 300,000& = 123 3,600
401 Al HI L =2 Tl 30,000 10,000 20,000
01 A& Hl 30,000 10,000 20,000
OFXEH SS0IEEANE RRNE=>
10,000,000& * 14 10,000
OFXEY AT AT 20,000,0008 14 20,000
402 RI2EX=20l A 40,000 0 40,000
01 2I2E 2 AL B (KM ) 40,000 0 40,000
OSSHANE 2Z(SEAME) 2Hel Zx X
50,000,000& * 1Al = 80/100 40,000
ARSI UNESEC D) Fal 73,880 79,280 25,400
201 Yer2 2t 23,880 24,280 £ 400
01 At 2t 2l 9,000 7,000 2,000
O3J1% 2 EF=IE U=
9,000,000& = 14 9,000
02 3322l 14,880 17,280 A 2,400
OZJ SLANE & B22R3 1,680
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OZJ1Y 2sZ2& 232R= 13,200
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—MOEERE 100,000 = 12& 1,200
401 A& H|IZ 2 0HY| 50,000 55,000 A5,000
01 Al& B 50,000 55,000 A5,000
OFSAE HEE 20,000,000& * 14! 20,000
OFEANE Z2S0EANE X B
30,000,000& = 14! 30,000
(T)EEANE 5UE SHAY 36,670 95,000 A 58,330
& 11,000
Al 25,670
401 Al HI L 204 HI 36,670 0 36,670
o=} 11,000
Al 25,670
01 Al&H| 36,670 0 36,670
OAGFHIHAIEY AIEEX=Z2A
20,000,000& * 14! 20,000
= 6,000
Al 14,000
OLHIBESAIE HIEES=Z2A
16,670,000& = 14 16,670
= 5,000
Al 11,670
HEANE L JNEBHELSG 772,484 194,700 577,784
=} 161,620
Al 610,864
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03 Al ZH =X R = XIH| 4,500 5,000 A 500
ONABH a5 A2 57
4,500,000 = 14 4,500
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307 21201 A 160,000 131,000 29,000
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—AH=(16d) 5,000,000,000& * 2% 100,000
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307 gl2tol & 4,080 8,160 A 4,080
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OMOIERAE2SIAL (A ZOHLIA )
4,080,000& = 10H A 4,080
(Z)HSANEEEINSAHEA XIS 14,064 6,720 7,344
= 4,220
Al 9,844
307 21201 A 14,064 6,720 7,344
< 4,220
Al 9,844
02 It S AIHE L 14,064 6,720 7,344
ONMSAIZE IS MEIAAS (3EXL)
14,064,000& * 14 14,064
< 4,220
Al 9,844
()2 2ZEANE SHAY 450,000 0 450,000
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Al 315,000
403 A X EHHS =0l A 450,000 0 450,000
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Al 315,000
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74,520,000& = 14 74,520
< 22,400
Al 52,120
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Sot2el 28,750 36,210
201 Let24d] 19,150 21,810
01 At 22/l 19,150 21,810
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— & HESH 276,000 * 10A 2,760
— &4 HESEH 431,000& = 10A 4,310
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301 g2 d= 9,600 14,400
11IIEESS 9,600 14,400
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50,0003 = 8H = 24= 9,600
a0 el 2te] 3,000 3,000
307 21201 A 3,000 3,000
05 RIZt2IEt = 3,000 3,000
OZHHEIHR XIE ZAISE S CHEH A I
3,000,000& = 14l 3,000
HAES 10,000 10,000
307 21201 A 10,000 10,000
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ORBIIAYA M YAAS
55,000 * 4104 * 23] 4,510
& 1,353
Al 3,157
206 M = Hl 36,900 38,000 A 1,100
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Al 25,830
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Al 25,830
lgsd € & 1,374,720 1,393,386 N\ 18,666
== 16,875
Al 1,357,845
SA0Y LA 1,122,000 1,223,586 A 101,586
201 et d| 11,000 11,000 0
01 AP 2t 2| H| 11,000 11,000 0
Oz QA AN M 200,000 = 504 1,000
O2+==zAM)Y HE=sE2 ¢ JoleEs M
10,000& * 1,0000H 10,000
307 2iz2to| A 960,000 1,020,000 A 60,000
02 QIZIAAAIE E X 80,000 60,000 20,000
OHAE HIAWR2 XNAMH(BEXES 80%)
20,000,000 * 14l 20,000
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(EXE 80%) 10,000,000& = 1A 10,000
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50,000,000 * 14! 50,000
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SAJ|g2dt2 0IEES K2
880,000,000& = 14l 880,000
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51,000,000 * 14! 51,000
10 2|2 SHHSHE A X S A 100,000 80,000 20,000
OLAINERHI|I8 REAIY
100,000,000 * 14! 100,000
ZEI|ASHF 6,000 31,000 A 25,000
201 et 9| 6,000 31,000 A 25,000
01 AP 22| H| 6,000 31,000 A 25,000
OEJA g2 H& 6,000,000& = 1A 6,000
A SHL 2 EHEXR 50,000 50,000 0
307 2iz2to| A 50,000 50,000 0
02 QIZHA AAIE E X 50,000 50,000 0
OBJQUAEESAIE HSUE2AY
100,000,000 = 14! = 50/100 50,000
(2)ESADIMEH 40,000 35,000 5,000
= 16,000
Al 24,000
307 2Iz2to| & 40,000 35,000 5,000
= 16,000
Al 24,000
02 QI AAIE E X 40,000 35,000 5,000
OsAJ|g e 40,000,000& * 14l 40,000
& 16,000
Al 24,000
Xl XA THAHE = 20,000 0 20,000
307 giztol & 20,000 0 20,000
02 QI2tAAMAIE E =X 20,000 0 20,000
OX <SR ATHA HEX A
25,000,000& = 141 %= 80/100 20,000
SICAETHAL L A A EHOIXA 12,000 12,000 0
307 2iz2to| A 12,000 12,000 0
04 SIZ2ISHAAISH E & 12,000 12,000 0
O3JoA HEA EIF XA
15,000,000& = 14 = 80/100 12,000
SICAMNE EE STHEHAIXA 41,800 21,800 20,000
301 LBt A= 1,800 1,800 0
09 HAIAHI EAZ 1,800 1,800 0
OEJ|0HA EEXA B0 A E2#HXA Yl &
& 90,000& * 10Y = 2 1,800
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307 glz2tol & 40,000 20,000 20,000
04 DI2HHALALSE E X 40,000 20,000 20,000
O3JIgANSEE STHAAMXE
50,000,000& = 141 = 80/100 40,000
HE ZJ/100A )| SHM(SHEEXE) 60,000 0 60,000
307 21201 A 60,000 0 60,000
02 It S AHE L 60,000 0 60,000
Ods 371 Hedlgy FEAMY
60,000,000& = 14 60,000
oA EEEOF JIGX& 20,000 0 20,000
307 21201 A 20,000 0 20,000
04 QIZFHALAIH B = 20,000 0 20,000
OdiAB=&It JILXF 20,000,000& * 14 20,000
(Z)EA)g2=dad) = 2,920 0 2,920
< 875
Al 2,045
301 gt d= 2,920 0 2,920
< 875
Al 2,045
06 212toI= 2l 04 Hl 2,920 0 2,920
OsaJ|Yg 22 MHIls A=
3,800,000& » 19 * 76.84/100 2,920
= 875
Al 2,045
224 =Xsd 68,680 55,200 13,480
< 13,000
Al 55,680
LsXE 22 3,680 2,700 980
201 Let24d] 3,680 2,700 980
01 At 22l 3,680 2,700 980
OZ22Xte a1 &I XA
100,000& * 204 2,000
O AMBIEES 3loF A =
70,000 = 129 « 23] 1,680
(Z)22 &S HIIUE X & 40,000 35,000 5,000
< 8,000
Al 32,000
307 21201 A 40,000 35,000 5,000
< 8,000
Al 32,000
04 QIZFHALAIH B = 40,000 35,000 5,000
OZ2Z2 X otsHIIts X
40,000,000 = 14l 40,000
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< 8,000
Al 32,000
(D) SHENYAEHSIE 25,000 17,500 7,500
< 5,000
Al 20,000
307 glz2tol & 25,000 17,500 7,500
< 5,000
Al 20,000
02 (It HAMHEE 25,000 17,500 7,500
Oksaga X 25,000,000& * 14! 25,000
< 5,000
Al 20,000
2322 ¥ HHorF (A =X/=S) 1,845,066 1,914,373 A 69,307
= 90,000
Xl 733,760
J| 90,000
< 178,970
Al 752,336
322 & YA 1,845,066 1,914,373 A 69,307
= 90,000
Xl 733,760
J| 90,000
< 178,970
Al 752,336
;Y 2 Mgetd XA 26,800 8,800 18,000
201 Lt 16,800 8,800 8,000
01 At 22l 6,800 3,800 3,000
OYx2IAAs 5o EHarg
70,0003 = 10 = 43 2,800
OgXtelth® MM 2 250,000 * 43 1,000
Ogitel 222 ME & oM 3,000
— 89 50,0003 = 2401 = 23| 2,400
— ot BEH S 300& = 1,00001 = 23l 600
03 A2 Z Hl 10,000 5,000 5,000
OFY =&gal MaA 10,000,000& * 13l 10,000
307 21201 A 10,000 0 10,000
02 HAFAAFEE 10,000 0 10,000
O EE MOILE K Jlgelnte 2t 3 Of
z X& 12,500,000& * 13| * 80/100 10,000
(Z)=32=2 M 282,262 206,000 76,262
< 25,975
Al 256,287
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Al 252,607
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04 JI2ZtHIZ2 2 NEES 278,582 201,920 76,662
O222=2AMg WA 22 ¢ 42
278,582,000& = 14 278,582
= 25,975
Al 252,607
201 LBt 1,600 1,800 A 200
01 AP 22| H| 1,600 1,800 A 200
OZ2Z222AY =& 29|
1,600,000 = 14! 1,600
202 o4 | 480 480 0
01 2L HI 480 480 0
OZ2Z222AY Al a H4 & 20|
20,000 « 2% * 13 * 128 480
206 M Hl 1,600 1,800 A 200
01 X2 Hl 1,600 1,800 A 200
2222 ALY =4l 1,600,000 * 14! 1,600
(2)XNYGZ2SH LRl AtY 165,627 160,263 5,364
N 68,260
& 13,652
Al 83,715
101 Q121 4] 152,927 147,563 5,364
Xl 68,260
& 13,652
Al 71,015
04 JI2ZtHIZ22NEE S 152,927 147,563 5,364
ONHZEMLRAANY FOK A3 L 4G
s Jrel 152,927,000 * 14! 152,927
Xl 68,260
& 13,652
Al 71,015
201 LBt Y| 2,000 2,000 0
01 AP 22| d| 2,000 2,000 0
OXEZ22sHLXeAmg =8 22F
2,000,000& = 1Al 2,000
202 04| 700 700 0
01 2L Hl 700 700 0
OXEZ2=sHLeXeIAY B L 24Atd HAE
S 242 (44| 700,000 * 14l 700
206 M = Hl 10,000 10,000 0
01 X2 H| 10,000 10,000 0
OXNEZ2sHLeX2IAYE M 2L
10,000,000& = 14 10,000
(Z)AFSIE D] AP Hl XIR ALY 128,400 80,000 48,400
= 90,000
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< 11,400
Al 27,000
307 glz2tol & 128,400 80,000 48,400
= 90,000
< 11,400
Al 27,000
02 IZtE M AHE X 128,400 80,000 48,400
OArZI I AFHIHEHl XI&ALS
128,400,000 * 14 128,400
= 90,000
< 11,400
Al 27,000
(D)HEHAAL TN 80,000 80,000 0
< 24,000
Al 56,000
307 glz2tol & 80,000 80,000 0
< 24,000
Al 56,000
02 It HAMHEE 80,000 80,000 0
OFHEY XNAAY 80,000,000 = 14! 80,000
< 24,000
Al 56,000
(D) SXNHEH EH3HA 150,000 162,000 A 12,000
< 30,000
Al 120,000
307 21201 A 150,000 162,000 A 12,000
< 30,000
Al 120,000
02 IAHFAAHEX 150,000 162,000 A 12,000
OFSXNALHE LA
150,000,000& * 14! 150,000
< 30,000
Al 120,000
(E)XNSAARNEAES 5,977 5,977 0
< 1,793
Al 4,184
301 et A= 5,977 5,977 0
< 1,793
Al 4,184
01 MEIBEE 53 5,977 5,977 0
OXNgagI Hged 5,977,000& * 14 5,977
< 1,793
Al 4,184
(=2)0271Y MY 50,000 40,000 10,000
Xl 25,000
< 7,500
Al 17,500




2N
X ZH -
L= B

el

[
o
-z

AAOHH (MBI EBX/cS)
Xl Of OF &
g O o

b OB oY
0k O =
Uy ne
HU HU 0x
=Y

il

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
307 glz2tol & 50,000 10,000 40,000
Xl 25,000
< 7,500
Al 17,500
02 P HAMHEE 50,000 10,000 40,000
onsllyg 4 XA 50,000,000& * 14l 50,000
Xl 25,000
< 7,500
Al 17,500
()N SMBHESE N HEXNJANG 100,000 380,000 280,000
| 90,000
Al 10,000
307 glz2tol & 100,000 380,000 A 280,000
| 90,000
Al 10,000
02 HAFAAHEX 100,000 380,000 A280,000
OXNHLHeEE LANelEEXNE
100,000,000& * 14! 100,000
| 90,000
Al 10,000
(DMNEFIIEE LRel&FEsAY 826,000 633,333 192,667
Xl 619,500
< 61,950
Al 144,550
307 glz2tol & 826,000 633,333 192,667
X 619,500
< 61,950
Al 144,550
02 YAFAANHEX 826,000 633,333 192,667
OMEIAIIY S LXclEEAEY
826,000,000& * 14! 826,000
Xl 619,500
< 61,950
Al 144,550
(A EHIY MBS KAAY 30,000 8,000 22,000
Xl 21,000
< 2,700
Al 6,300
307 glz2+ol & 30,000 8,000 22,000
X 21,000
= 2,700
Al 6,300
02 RIZFEA MM E X 30,000 8,000 22,000
OMIAIS MIBEES XA
30,000,000& * 14 30,000
Xl 21,000
< 2,700
Al 6,300
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HUX =3HE (&Y - SAIS/HUEXLARAML) 925,185 543,064 382,121
= 150,367
< 161,510
Al 613,308
O Xetd & S5 925,185 543,064 382,121
= 150,367
< 161,510
Al 613,308
Ol Xl - & 22| 206,435 35,364 171,071
201 L2l 5,328 5,440 AT112
01 At 22/l 4,988 5,000 A2
Odtactd2e s88H 160& = 5,0000H 800
ONURX B2 s2ME 1602 = 5,0000H 800
OJtA & UXIZ2 2T M
1,000& = 1,0000H 1,000
OIMALRME AN EI ¢
1,000& * 53 & = 45 * 43 848
OSAIAZSNAAAS HaLY
70,000& * 5% « 23] 700
O=MATAAS Mg
70,0003 * 6Y 23] 840
02 8323l 340 440 A 100
OM&HZ 240IstEA HEIIRS
20,0008 * 123 240
OM&HZ 2H0IstEA A2 (HstE=EA S
) 100,000& * 14! 100
301 L2 AF 1,107 1,189 A B2
11IIEtEA S 1,107 1,189 AB2
OFgdr S SHAAMN ANE B 1,107
- FYs 1,410& = 44 = 5304 * 23 598
- & % 1,2002 * 44 » 5304 « 23] 509
402 RI2EX20| ™ 200,000 20,000 180,000
01 2I2F 2 A B (RERTH ) 200,000 20,000 180,000
OAMSIHAT IFAANLELHR KN (B8 FH)
2,000,000& = 10AICH 20,000
OZHHEOILEXY TAIIA B3AY(EXE 80
%) 30,000,000& * 691 180,000
()& THMHHXES AL 320,000 220,000 100,000
< 96,000
Al 224,000
402 RIZEXtE0| A 320,000 220,000 100,000
< 96,000
Al 224,000
02 It 2 AL EZ (01X THS) 320,000 0 320,000
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2,000,000 * 5000 A& 100,000

30,000
70,000

= M

20,000,000& = 1100 A 220,000

66,000
154,000

= M

(Z)MUE HAANAE e 100,450 161,700 A61,250
80,367
6,020
14,063

= N H

403 AXHHSXH=0lA 100,450 161,700 A61,250
80,367
6,020
14,063

= M W

02 SISOt Xt== 0 & At I 100,450 161,700 A61,250

NUE JFAANENEAY XS

100,450,000& * 14 100,450
80,367
6,020
14,063

O

= MW

(Z)MQE bAANAE WA 18,300 20,000 A 1,700

5,490
12,810

= M

403 AXHHSXH=0lA 18,300 20,000 A 1,700
5,490
Al 12,810

m

SO 2SO0 HE X =H T AFSH 18,300 20,000 21,700
ONRIE AT (EIOIHE) ESAY
50,000 = 36674 A 18,300

5,490
Al 12,810

in

(2)FAANS AHRSX X 100,000 100,000 0
70,000
Al 30,000

H

401 AIEHIZ 2 I 100,000 100,000 0

70,000
Al 30,000

H

01 A& HI 100,000 100,000 0
OMASE LEDEZE WHMX MY
500,000& = 2002t 100,000

= 70,000
Al 30,000

(2)SANAZBS XA 180,000 0 180,000
< 54,000
Al 126,000
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402 BI2FX=01 M 180,000 0 180,000
< 54,000
Al 126,000
02 QI EASEZ (01X ) 180,000 0 180,000
OZAIA B3A2AXYE XA AL
180,000,000& * 14 180,000
< 54,000
Al 126,000
SHAZAN(LBS S /Lot H) 60,596 47,246 13,350
< 23,378
Al 37,218
SH A 60,596 47,246 13,350
< 23,378
Al 37,218
SHZIZAL & 2tel 9,120 9,120 0
201 Let24d] 8,940 8,940 0
01 At 22/l 8,940 8,940 0
OsHHE &2t 2 C0 H& 7,000
—SHHE &2t 30,000& * 150= 4,500
—CD M= 10,0002 * 25074 2,500
OAZ SHZEA EEZ &
60,0003 * 64 * 43 1,440
OAZ& SH =2AMNES 7E 500,000& * 14 500
301 et a = 180 180 0
09 &AL HI B &S 180 180 0
OSHXZA s 4 24
90,000& = 2% « 13 180
(D)XNSSHEANSE A2AX A 51,476 38,126 13,350
< 23,378
Al 28,098
101 @124 dl 12,890 9,228 3,662
< 5,276
Al 7,614
04 JI2ZtHZ22HEE = 12,890 9,228 3,662
O AL M= A 9,368
— S22 56,0903 * 1 * 272 * 80/100 1,212
< 364
Al 848
— ZAr2 2 At
56,090& = 3% * 272 * 80/100 3,635
< 1,090
Al 2,545
— ALK E 22l &t
51,810& » 1% = 272 = 80/100 1,120
< 336
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—Z2AD1(HEY) =2l 1,000,000& = 1CH 1,000
—Z2EI 22l 100,000€ * 5CH = 50/100 250
— 2A EUY 200,000& * 53 = 104 1,000
—Z2EH) EH(EY)
200,000 = 53] = 504 5,000
— T2l EH(Zet)
200,000 = 53] = 104 1,000
—PC =2l 100,000& * 18CH = 20/100 360
— J|EF =#=2lH] 50,000& = 12& 600
OJIEF AFR 22| 5,000& * 18" =« 12& 1,080
202 04| 74,520 74,520
01 2L Y| 74,520 74,520
OZHELsa 2FA oYl 74,520
— 2L o4 8] 20,000& * 18Y = 122 » 128 51,840
— 2204 Hl 90,000& *» 18YH = 14 22,680
203 ¥R =&H| 4,200 4,200
04 EANSHLRF=AH| 4,200 4,200
ORAN2EYERFAH| 350,000&  12& 4,200
204 &2 = A H| 1,200 1,200
01 MM R-HAY| 1,200 1,200
ONMZYRLBAY (ZHBLHAT)
100,000& » 1¥ = 12& 1,200




